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Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155058081, R1 1s transitive but R, is not transitive

7155058082, R2 1s transitive but Ry is not transitive

7155058083, Both R and R, are transitive

7155058084, Neither Ry nor Ry is transitive

Online
Mandatory
20

20

80

Yes

0

1
715505159
Yes

null



Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
R2 30 Doth Kowogren R, &00ddw R; en

ad—bc >0 won3 (a, b) R, (c, d)

atd=b+ceows, (a,b)R,(c,d) 3 QED80. vy :
Options:
7155058081.

7155058082, 2 PEGE0 520 R, 85850 57¢h

== T )
7155058083 R, 80w R, Bodr 850

7155058084, 111 900050 R, Dol S5850 5=t

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 { %30 30 N
Let o and  be the roots of x“ —3x +9 = 0. Then | - .= | 1s equal to
L0 (9p)1°)

Options :

7155058085. 1

|
7155058086. Y

7155058087. 3



7155058088. 9

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. o]
f 30 30 4
22— 31 +9 =0 Go¥), Sreren a o8k P o8 0. o | P ]

{92 (9817

Options :

7155058085, 1
]
7155058086. Y

7155058087. 3

7155058088. 9

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
For z=2 + 5i. the modulus of 273+ 2122582+ 4is:
Options :

7155058089. 1153
7155058090. 947

7155058091. 337



7155058092, 837

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

7=2+5i 8, 2-°4+2122—58z+4 @B0E) aﬁfﬁaﬁsa":'o}ﬂmao :
Options :

7155058089. 1153
7155058090. 947
7155058091. 537

7155058092, 837

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I the system of equations

Ke -2y +/52=+7

= = .
w.."IJ.T +4/ 3}-‘ = -»..-'Ez =11

30x +(3V15 = 5J6) v + (5715 = 3J10)z = 521 + 3455
has infinitely many solutions, then K? is
Options :

7155058093. 27



I
7155058094. 3

7155058095. 9

7155058096. 3

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QDI DWEBET ) D508

Kx —\6}' +/5z=17

\J'EI +\."{§J." —\."E‘ = \.'"ﬁ

30x + (3315 = 56) ¥ +(5v15 = 3310)z = 521 + 355
@0HBR alrSeD &) N @one, K2 :

Options :

7155058093. 27

I_|h|,|_

7155058094.

7155058095. 9

7155058096. 3

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For o, p € £, if the matrices A=

(@ 0)
= ‘ z 8 and [ = (]] ?\:satisfy the equation
(A%B)#2I =201, where # is detmed as A%B=A"+ B, then | af| is equal to :
Options :

7155058097.2xﬁ§

7155058098, 2v/2
7155058099, 4

7155058100. 2

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ir-' “I I
o, BERS, A:;E 0;, © 0 e 1 c.J”L?.SéED (A#B) %21 = 201 $5D088e) Eo

B 10 o
' 56 n, 358 AxB= Al+B? e D80, Ll UB\

Options :

7155058097.2xﬁ§
7155058098, 272
7155058099, 4

7155058100. 2



Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. R 1
The sum of the first eleven terms of the series is o o

Options :

7155058101. 133

7155058102. 133

7155058103, 33

33
7155058104, 67

Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- 1 - (S0 068 HOTOH Fwo :

1415 41% 1$2% 9% 1+3% 43

Options:
61

7155058101. 133

66
7155058102. 133

16

7155058103, 33



33
7155058104, 67

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+2

lim(1+3x) * s equal to

x—0

Options :

7155058105. €

7155058106. &°

7155058107. e°

7155058108. e°

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+2

im(l+3x) * =

x—0

Options :

7155058105. €

7155058106. &°

7155058107. e°



7155058108. e°

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

nE : : s A, g X=d P=ld 2=l ;.
Let P(a.p, A]be the image of the point Q(1,2.0) in the line G =5 ,then (PQ) 1s

equal to
Options :

7155058109. 90
7155058110. 180
7155058111. 360

7155058112, 270

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

s VR x=5 =12
Q(1.20) Dochah (HEDoR0 = P

-10
. B0S pg,p,1) SOV (BQ)

Options :

7155058109. 90

7155058110. 180



7155058111. 360

7155058112. 270

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155058113. 8820
7155058114, 10584
7155058115. 1764

7155058116, 3515

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.8 ¢2) S 7 D505 SB05N 9 Bes) 20HENT) Q. (238 B0 ENNO 3
20EDENOTEF 8 20O B0 DT HODS

Options :

7155058113. 8820

7155058114, 10584



7155058115. 1764

7155058116, 3515

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

' - . -~ 1— - '
Let [t] denote the greatest integer function. If [[1+:%++*[d=a, then 364~ 254" +84° -4 Is equal to
I |

Options :

7155058117. 19
7155058118. —19
7155058119. 18

7155058120. —21

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
v, W W, ol W, 1 -
[t] 2,8 1505) S T08 (DDOTFRY AFANO. ([[14:2+x4 dr=a, IOV, 360-250" +8° - o'
i ]

Options :

7155058117. 19

7155058118. —19



7155058119. 18

7155058120. —21

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let PL = § units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R, If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options :

7155058121, ~2
7155058122. 2
7155058123, 242

7155058124, 4

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PM 2805 QL B3ranoz@en R DocNa) ¢ HOATDZIED PL =8 0Nty
B05 QM =2 AP T B0 N0t DIrPOEODTOR. P, Q, R 2006
(DO 8 S9TRS PL SHO0) QM )8020008, 88 9@ FrQ0 -

Options:

7155058121, ~2

7155058122. 2



7155058123, 2+2

7155058124, 4

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For some o € 17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /i: 9x + 7y + @ =0, then the centroid of APQR moves on the line /,, which is

20 ; L : ‘ :
—— unifs from it. If the distance of Q from /; is X thenkis

WI30 3,130

parallel to /; at a distance

equal to :
Options :

7155058125, 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR0 €38, PQR Dotk Ay 4ozen P(2, 5) o0k Q(a, -11) $OAS 2.8 (Behwo oS0l R
Bocy 9+ Ty + =00 S Khensbod, 8 = oy cindoe dod, 08
SdrodBorr &)l % APQR G s Solo Sbeodhod. |, B d0d Q Hoki) drdo

K wond, kDo -

34130

Options :

7155058125. 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A(x; 3, = 1.2,3 be points on the circle x* + 3 = 10 such that Ay lies in the 1" quadrant and it
is the image of point A, with respect to y-axis. If the distance of point Ay from each of the points
A, and Ag is 2, then twenty times the area of the A Ay Ay As is

Options :
7155058129. 12
7155058130. 30

7155058131. 24

7155058132, 48



Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ay SO TS S0G SO0 @A y-098 0 GgaFs A, Do) (HBD020
@ADIET ¥ +17 =10 5980 D) DOVYEN Afx;, ¥, i = 1,23 90T,

Ay HBAN A3 DONO DO Ay P80 2 ONB, A4; Ay A3 T0EY TS B
O ;

Options:

7155058129. 12
7155058130. 30
7155058131. 24

7155058132. 48

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The remainder when 7% is divided by 15 1s
Options :

7155058133. 5

7155058134, 7

7155058135. 9

7155058136. 11



Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
787 0 15 T 2R0D™ SN A0 :
Options :

7155058133. 5
7155058134, 7
7155058135, 9

7155058136. 11

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the plane y = ox — Bz + y passing through the point (1, -1, 3) is perpendicular to each of the
planes 2x +y+z=1and3x-2y+2z=0,thena+f+yisequal to:

Options :
7155058137. 5
7155058138. 13

7155058139. 19

7155058140. 27



Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(1,-1,3) Dothay Mo &8y y=ax—Pz+y dvo, 2xx+y+z=100%0 3x-2y+22=0,
of® (58 8008 wonore &ol, a+p+y=

Options :

7155058137. 5
7155058138. 13
7155058139. 19

7155058140. 27

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Let ;:lff“+z'_;+3f,_b’:}ﬂ’__hzf{, ?:zH; _4% be three vectors. If - is the vector such that
B O R 5 gy — !'J—* —3‘\1 - fa A A )
tXa= b+c xa and 1+ b—c|=0 then ;-.(j+,i—,’;) isequal to:
/ \ J '
Options:

7155058141, 3
7155058142, 4
7155058143, 3

7155058144, 6



Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o T
a=i+2]4+3k, b=

Options:

7155058141, 3
7155058142. 4
7155058143, 3

7155058144, 6

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation I +x + 12 +..+ 1182 0 satisfies the

equation x' = 1, is
Options :

7155058145, 0
7155058146. 59

3
7155058147 59



7
7155058148, 118

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cireyDgorr Aknger) $888mo | +x+x 4.4 10 =0 G Sareo, $doEmox'=19

&% $03 Sogrind :

Options :

7155058145, 0

7155058146. 59
B

7155058147. 59

7155058148 118

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have the binomial distribution B(n, p). If its mean is 3 and variance is 2, then P(X < %] is

equal to :

Options:

7155058149. 3

7155058150.  3°



163
7155058151, 3°

835
7155058152, 3°

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~

X, &rddd Qx%ea B (n, p) A 30N 0T ol. orf @nd) g0 3 H0ain A8 2 ©ona,
L B
Options :

7155058149. 3

25% 27

7155058150, 3°

163
7155058151, 3°

835
7155058152, 3°

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R ™
. . . a4l x —3x+2] .
The domain of the function f(x)=cos | ——""|is:
hxotie—1. ]

Options:



7155058153. *

i

_’33'

7155058154, [5 J
A _ _ |
7155058155, -~ (=42 = L. 2 — 1]

7155058156, (—o=.—1—+2) L (2 = 1.59)

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-

7 ™
g F=302 | 2 PP
flx)=cos | 50— | (353005 206 :
X hlE=1Y)

Options :

| 2—1,%}
7155058153, \ 5

i
7155058154, [5’ ),

7155058155, -~ =42 = L. 2 — 1]

7155058156, (—o=.— 1—+2) 1w (2 = 1.59)

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?



Options :
7155058157. ((p = @)V p) = ¢

7155058158, ((P A q) = p) = q
7155058159, ((P A Q) A{~q)) = p

7155058160, ((P=a) V p)=p

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

~

808 (PEbXes® DB QR0 ?

L.'l

Options :
7155058157. (P = @A)V p) = q

7155058158. (P A Q) = p) = ¢

7155058159, ((p A Q) A{~q)) = p

7155058160. ((P=aQ) V p)=p

Mathematics Section B

Section Id : 715505160
Section Number: 2
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505160
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x"+ | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratio m :
n, where m and n are coprime, then m + n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m oDOOR 1 € eI OPIEN ST, 3+ ] =3 HOAN y=-1| STOD
339D (NBFR) y=r>+1 HE0 m: 0 AN DFZNOTY, m+n = .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

%8 demd 5050 o8 Swo S Bk pdorr 2% deroet 00 Both Seres
2l deforre, 30 5‘6?55; Sere 12 5@6&@@‘3 o) dereare Dol

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

18
. 12 .
Let (1+x%—x*) =X ax™ Thenag+ay+ag+..+ a4 is equalto
n=1{

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

~

43
= Z anxﬂ @&?D{% @@.& dpTaTag .. Tayy =

n=0

[_1+x2—:r*;]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If S, denotes the sum of first n terms of the series 7+ 10 + 16 + 25 + 37 +..., then S3p— Sy is equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T+10+16+25+37 +., (386°) 305 n Sero Foeed) S, 5°TR), S39-S30=
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I [t] denotes the greatest integer < t, then the number of points , at which the function

f (x]z[x+xﬂ+‘x—x3‘+ is not differentiable in the open interval (-10, 10), is

1
v+
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 -
o @E.J{ﬁ‘;o,

t ool 168 syperoo [t] wowd, (-10, 10) wodos® f (xJ=[x+x5}+‘x—x5

oo 3088 Dot éom; =
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ItJ‘ dx _ |
B+ 10:2+7 380

log, | /(x)|+€ where C is an arbitrary constant, then f(0) is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ik I . .
Yy 5 ﬁ'f R log, | f{x)|+C, aggrc*fg C 28 Cwé?}ﬁw & 2yr0%0 @Q}:}@ 10
(3x” +5)4/10x°+7 V380 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the equation of the hyperbola with foci (1, 5), (1, —1) and eccentricity \[3_ be

=2 +ax+by+c=0. Thena+b+c|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1,3), (L,-1) rgheore S0 088 |5 rm 50AS eddrdudh $dEsmo '~ 27 +
ax+by+c=0. e%8%0d. el fatb+cl=

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let 0y, oy be the values of o such that the distance between the point (2, 4, 3) and the plane

3x+y+oz+10=01s 35 units. Then the area of the triangle with vertices (aq, a, 0),

(164 )
(ap, @y, 0) and |1—:,3,u is unit-,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(2,4, 3) Bochey 0000 3x+y+az+10=0 &wo n“;n;ﬁgc:bvéo V35 iy Qcﬁgw o G08)

[ 164

Deodien 0y, 0y @808, LD (ay, @, 0), (a, ay, 0) HOK 50 @ %%@Jﬁ" EORN

50

Babe Ferero = S 2 06",



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

" st J n N Mns fi Fi N ~
Let O be the origin and let the vectors OA=-3;+7; +5k, 0B=-51+7j-3k and o¢= ,; represent
three sides of a parallelopiped, where ;; is a unit vector in the xy- plane. If the maximum volume
of the parallelopiped is 2/, then a is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 Sreflotdm, 1 36 o8 1y Sood® (07 DBE o, Jairost DSy L) WF
SpeyDA=-3147] +5t, 0B=-5147 -3k theren  S0Cw  OC=y ¥Bder  edel.
Qar0st 82 10 ) H0:Ires0 2oawonda- .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
X+y=2 dy _X+y+2

[f the solution curve of the differential equation X+ >2 passes through the

x+y-1 dx x+y+l

i | B
a +da+2

points (JE.JE | and (2.a), then 2a~log, is equal to

L 6
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oo i R "*l 147> 2 @580 DGR PR (J5,42) 0B (2.0) DO

x+y=1 dx x+y+

g 3
o +da+2

o 0T 2a-log,

. 6
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

10to 12

Aptitude Test
Section Id : 715505161
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505161
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options:

7155058171, Lype of cement

7155058172, Lype of floor finish



7155058173, Lype of paint

7155058174. Lype of Brick

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

035 A -
Options :
7155058171, e300 S¥0

7155058172, 0 oJ*OOTH BF0

7155058173, 22000 B&o

7155058174, 2e0E 80

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Chandigarh 1s the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below

Options :



7155058175. Both Statement I and Statement IT are correct
7155058176. Both Statement I and Statement II are incorrect
7155058177. Statement I is correct but statement II is incorrect

7155058178. Statement I is incorrect but statement I is correct

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
500 DO (058D

1DFOST: 5650(65 278ed INHE DT DE TAHDGS DEEI0 LI0BNE.

%S 11 : H0BDE HEEI0 R (0D AT 8 O 5)20H6 T Erdge )
DOHVG0H.

2 (D8N STEOT Qe 2357720 ) SO,

Options :

2155058175, 05 I 200050 (08¢ IT BOCA® D230
7155058176, LLOSEI T DB (DHEEI II BOCE® 9220
2155058177, LS I QB0 5°Q) DI T 92000

7155058178, LS 1 9220 5°Q (DEES 1T D230

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements;

Statement I : Glass has low thermal conductivity
Statement II : Glass can absorb, refract and transmit light.

I the light of above statements, choose the most appropriate answer form the options given below
Options :

7155058179. Both Statement I and Statement II are correct
7155058180. Both Statement I and Statement IT are incorrect
7155058181. Statement I is correct but statement II i1s incorrect

7155058182. Statement I is incorrect but statement II is correct

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
DO (2288den

(EES I 1 P2 30).0) i) arEed 50 $ON H0LN0A.

(DEES I : T2 520 2169, 31825903 BASN Baeae DA

2 (82396 SO eIV 23720 D) T 0.

Options :
2155058179, [05€3c3 I a00A50 (5610 II DO Q220

7155058180, LIS T DO (D5ES I BOCET €920Q0



2155058181, SN I QB0 5°Q [DEEIS T 92Q0

7155058182, S 19220 5°Q (DEES I D230

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LISTII
A PPMUY [. [KAUSHAL VISKAS YOJNA
B. PMAY 1II. JAN DHAN YOJANA
C. PMEVY 1 JUTTWALA YOJANA
D. PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :
7155058183, A-L B-1IL C-II, D-IV

7155058184, A-III, B-IV, C-1, D-II

7155058185. A-IV, B-II, C-III, D-I

7155058186. A-IV. B-III, C-I, D-II

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



23683505

erderl rdee Il
A PMUY L 530 DT rad
B. [PMAY IL |23 00 O3rasad
C. [PMEVY 11 |23 2o O0rased
D. PMIDY IV. |es 3o O3023ed

AB S B2 ) S0k
Options :
7155058183, A-L, B-III, C-II, D-IV

7155058184, A-IIL, B-IV, C-I, D-II
7155058185. A-IV, B-II, C-III, D-I

7155058186, A-IV, B-1II, C-1, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |CP Kukreja [. IIM Ahmedabad
B. [Louis I Kahn II. [Jawahar Lal Nehm University
C. |B.V Doshi I11. [IIT Kanpur
D. |Achvut Kanvinde| IV. [I[IM Bengaluru

Choose the correct answer from the options given below:
Options :
7155058187. A-IV, B-1L, C-1. D-III

7155058188, A-III, B-1, C-II, D-IV

7155058189, A-II, B-1, C-IV, D-III



7155058190, A-L. B-IV, C-III, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

236508000
e erdee I
A |ce s I [[IM e 5erd
B. [oron® £58 [ I 2555 erd ST 0hrds0 3¢3
C.Bvaa L JIT g7e50 )5
D. feochozed £ 03| IV. [IIM Boisrd

DD B2 ) SoR.
Options :
7155058187, A-IV. B-II, C-1. D-III

7155058188, A-III, B-1. C-II, D-IV
7155058189, A-IL, B-1, C-IV, D-III

7155058190, A-L. B-IV, C-III, D-II

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of these is not a complimentary colour?

Options :

7155058191, Blue-Orange



7155058192, Red-Green
7155058193. Blue-Green

7155058194, Violet-Yellow

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1BOA ¢3S D 58 SP0 5¢?
Options :

7155058191, QE0-*D023

w v
7155058192, o) C0e)-€38500T5 )
7155058193, QE0-E350DTH )

7155058194, SO 23505

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave 1s situated:

Options:

7155058195. Himachal Pradesh



7155058196, Uttarakhand

7155058197, Uttar Pradesh

7155058198, Madhya Pradesh

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0°25 ) B 28ed & O 0SS S0&?

Options:

7155058195, 875 IO (DTE

7155058196, 52T DO
7155058197, 20 |HDE

.
7155058198, S0CS (D3

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option among the following:
Petronas Tower is situated in:

Options :

7155058199. Paris



7155058200. Dubal

7155058201, Kuala Lumpur

7155058202, New York

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

808 73S DB Baraw D) Fod.

DETER 50 ¥y 88 GOE?
Options :

7155058199, a0
7155058200. (02700

w
7155058201, 5 €° €00

i =
7155058202, 023" o V(o))

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Konark Temple is located in which state?

Options:

7155058203, Madhya Pradesh



7155058204. Odisha
7155058205. Karnataka

7155058206. Rajasthan

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S5y D & TR0 GOE?
Options:

L
7155058203, S0CS (DB

7155058204, G )

7155058205, 5@

7155058206, 020

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options :

7155058207. Louis I Kahn

7155058208. Mohse Safdi



7155058209. Fariborz Sahba

7155058210, Richard Meyer

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SER BI0OHO Ty o289 58 DedSD?

Options :

v E

7155058207, OO 50 §570

=5 a8
7155058208, 00" 0 A)a)

7155058209, VOB Q DT

7155058210, OIQ 0D

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options:
7155058211. A dead Bearer

7155058212. A Dumb Waiter

7155058213, A Jockey Boy



7155058214, A push upper

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D) BIIOD SF(SHD ITONTRSE T D) P DeDOETED?
Options :

7155058211, T3t 230500
7155058212, C502D SOneEd
7155058213, 27°8 270

T i
7155058214, oot @920

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which are often referred as 'twin cities' of Odisha?
Options :

7155058215. Bhubaneshwar-Puri

7155058216. Puri-Cuttack

7155058217. Bhubaneshwar-Cuttack

7155058218. Bhubaneshwar-Rourkela



Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2B 'R0 ST ani DEIQ @OETHD ?
Options :

7155058215, E0DDF 55-53°8

7155058216, oI O-5€35

7155058217, 2003 §D-5E8

7155058218, 203 §O-ADy e

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the correct chronology of Human Civilizations in terms of their existence?

Options :
7155058219, Mesopotamia-Harappa-Egyptian-Chinese
7155058220, Mesopotamia-Egyptian-Harappa-Chinese

7155058221, Mesopotamia-Chinese-Harappa-Egyptian

7155058222, Egvptian-Mesopotamia-Harappa-Sumerian



Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S50y B8 TS 0359 0EH0 SO B SPEITrNeh0 E?
Options :

7155058219, S0DES QDOST-T G )- 8232 AN R- B

1155058220, S0 RES QOSB82 AN -T Sl Y- TF 0w
7155058221, VI AP BRV-sTSar )-B:28 DAD

7155058222, éﬂ&%ﬁg ODR- DN 656330 Cﬁj“—gfdipw.— 0DOCHD

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options:
7155058223. Shah Jahan

7155058224, Jahangir

7155058225. Akbar

7155058226, Qutub ud-din Aibak

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ADS’D 5268085 TS DS BIOTTED?
Options :

7155058223, a° 235350

7155058224, 233000

7155058225, €520

7155058226, S0€902) 5RO DS

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) Light throughout the
year’

Options :
7155058227, North
7155058228. South

7155058229. East

7155058230. West

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

58 2 @ORE0ES NBMDEN FON (F5D0D) 508 H0s 150 FBorr o) IS
0380 SNOE?

Options :

7155058227, Ga& 50

7155058228, (95 €90
7155058229, €730

7155058230, (300

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options :
7155058231, Raj Rewal

7155058232, Charles Correa

7155058233, Achyut Kanvinde
7155058234, Hateez Contractor
Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

2370 S'Q "25:575erdS &9 52008 )" Do 8 DSK0?
Options:

7155058231, T°25 Dad®

=, o
7155058232, L0 560k
7155058233, DTNSS 8 S0T

7155058234, ST &5 SO|ErEO

Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewari is a construction style popular predominantly in

Options :

7155058235, Coastal Areas

7155058236. Plains

7155058237, Mountainous Region

7155058238. Desert Areas

Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



D826 HR-THB @ DT 3O (DDOOM [(DIB.
Options :

o &
7155058235, WS BT*OES’
7155058236. Darareres

w, - C’Ss
7155058237, 205 (OB

7155058238, )TFC0EIES

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which stone is used for roofing in mountainous regions?

Options :

7155058239. Marble
7155058240. Granite
7155058241, Shale

7155058242, Sand Stone

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DB 568 BFOETFOS. 20 5 )e ¢ TPo0 DE?

e
[+ S



Options :
7155058239, oJ°COTP0OW)

7155058240, VLTI / (TTE T"O0
7155058241, 2208 50E3 TPOM

7155058242, @S TPO0

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chandigarh is an example of which type of city planning.

Options :

7155058243, Radio Centric
7155058244, Grid-iron
7155058245, Linear

7155058246, Organic

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOGNE 2 BE0 DD (DETPE ST

Options :



7155058243, D230 ¢35

7155058244, [1E-500

7155058245, O DAHE

7155058246, ST°V5

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If you have to build on the seashore in Goa, which rooms would have the best view of the sea?

Options :
7155058247, Lhose facing North

7155058248, 1 hose facing South
7155058249, Those facing East

7155058250, 1 hose facing West

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M A QeBBE0ES’ BT, &) HEIED 9655855 | DE 20
§ GOLFoN?

Options :

7155058247, C52 B0 AN &



7155058248, (95 €90 TP ) &
- ~ L
7155058249, €2PC0) TATAN ) &

7155058250, o280 TIFAS) &

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" National Institute of Fashion Technology. Delhi is designed by

Options:

7155058251. B.V Doshui
7155058252, C.P Kukreja
7155058253, Raj Rewal

7155058254, Bimal Patel

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"NIFT" Rard® B L75) &89 aFe0 TS 0%, 5’;@ DI G810 Drd?
Options :

7155058251, 2).2) EYa)



= =
7155058252, ©J-0J. SoSes

7155058253, TU°25 D©

7155058254, 20006 DT

Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

[. |Empire state Building

II. [Hagia Sophia

8 !}_LEH?H'}'_l A II1. |Sydnev Opera House
LFRREREiLl

IV |Coloszzeum

L

| im——

Choose the correct answer from the options given below:
Options:

7155058255, A-IL, B-1, C-IV, D-III

7155058256, A-L, B-IIL, C-IV, D-II

7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV. B-III, C-II., D-I



Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
23650857500

Pt A L1 | 2= 11

L D025 D& HOOR

1L [2&) 4720 52

IV [eS o

DTS B2 AN E0S -
Options :
7155058255, A-IL, B-1, C-IV, D-III

7155058256. A-I, B-III, C-IV, D-II



7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV, B-III, C-II. D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIE-T I LISTII
o r_ﬁ
Al v ‘ﬁ [ |Tesla
B. II. |Ferrari
C. I1I. [Porsche
D. £&e || IV, |Toyota

Choose the correct answer from the options given below:
Options :
7155058259, A-IV. B-1, C-II. D-III

7155058260. A-IL, B-III. C-I, D-IV

7155058261, A-1II, B-II. C-I, D-IV



7155058262, A-IV, B-III, C-II, D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

235001500
e 1 e 10
A\») Y
N7
e ——
B. IL 306
—————
c | ' L. |95
S54F,
I.-f-:-.-l;g. z
PH— |
D. ﬁ IV &S5 oreT

OB S B2 D) S0
Options :
7155058259, A-1IL, B-1, C-II, D-IV

7155058260. A-IL, B-III. C-I, D-IV

7155058261, A-1I1, B-II. C-I, D-IV



7155058262. A-IV, B-III, C-II, D-I

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options :

7155058263. Both Statement I and Statement IT are correct
7155058264. Both Statement I and Statement IT are incorrect
7155058265. Statement I is correct but statement IT is incorrect

7155058266. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[olola VIPALTATN IOV

18N I: 3 350 TB0E) (D57 BOMHED DY, A0 HAOH .
(DELNS T : 535G SE0S AENTENS &), ST 2J°6E B0rhen o .

=X

2 (2SO STEOM AB 2ared ) Sod.

a_



Options :
7155058263, 05 €30 I a00A50 (08100 IT DOCAT Q230

7155058264, LOSEI T DB (DHEEI I BOCE® €922Q0
7155058265, LIS I 230 5°Q (DELS 1T 9220

7155058266, LIS 1 €922G0 5°Q (DEES I D230

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

M8 |

Options :

7155058267.

7155058268.



71550582609.

7155058270.

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
563 363 B SR TR0t DEFR) D)ol

(2% Qe

OIS |2

Options :

7155058267.



7155058268.

7155058269.

7155058270.

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many triangles are there in given figure:-

AVAVAY
/N NN\

Options :

7155058271. 26

[
L

7155058272.
7155058273. 27

7155058274. 24

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
565 DH0ET Q) (322 ENT®) ON?

VAVAVAN
/NN NN

Options :
7155058271. 26
7155058272. 235



7155058273. 27

7155058274. 24

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Find the odd one out:-

7,9, 25, 32,43, 59

Options :

7155058275. 59

7155058276. 32

[
N

7155058277.

7155058278. 9

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
ST &) TR HB0B0G:

7,9,25,32,43,59
Options :

7155058275. 59

7155058276. 32



7155058277. 23

7155058278. 9

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A residential building has 15 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155058279. 45.6 meter
7155058280. 30 meter
7155058281. 50.4 meter

7155058282, 51.6 meter

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,8 Qe 853065 15 @0V Q. B 0 ER 42 I (s7¢heY
B0 W2 DO, E0)B0R). DT &) e0a)en 3.3 WED &by ([F°e
0T, EO0YFR). 8 2030 B0 D) D0sh (T D0 B SB) &S
Options :

7155058279, 45.6 DVEID



7155058280, 30 DEIE)
7155058281, 50-4 DD

7155058282, 51.6 ADEIED

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the mirror image of the given word:-

|
|
SUCCESS |
|
|

Options :
7155058283, & £ 4DDUE

7155058284, 21U ) Hee
7155058285. SUCCESS

7155058286. SSECCUS

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



¢5€d Hed0 AWEY BB (DedDo0 HBodod

|
|
SUCCESS |
|
|

Options :
7155058283. & 240D Ué

7155058284, & J)DHZ22
7155058285. SUCCESS

7155058286. SSECCUS

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The scale of a map is 1:1000. If a car travels 7 cm from point 'A' to point 'B' on the Map. Then how
much the car has travelled in original:-

Options :
7155058287. 0.7 km
7155058288. 7000 mm

7155058289. 7 km

7155058290. 70 meter

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

G0 g, WO 1:1000. 2,8 58 DGO 'A' Do) 0B B D008 7 0.00.
DOSTET W, PRS0 €8 580 D0 (B0 (HOSPEIOD0E?

Options :

7155058287. 0.7 km
7155058288. 7000 mm
7155058289. 7 km

7155058290. 70 meter

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options :
7155058291. 8 meter * 4 meter
7155058292, 80 meter * 40 meter

7155058293. 8 centimeter ¥ 4 centimeter

7155058294, 4 meter = 2 meter

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

80 DED x 40 A 07 POOS R0 TR 1:100 FOS 2.8 DD 2
AOSeE), 900 &8 DO HOTEI0 DD 2 DOEH?

Options :
7155058291, 8 DEIED x 4 MDD

1155058292, 80 20 x 40 DEIB
7155058203, 8 0OE3VEID x 4 OESNEID

7155058294, 4 EID x 2 WD

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Find the missing number in given series.

16, 33,63, 131, 261 .4.....)
Options :

7155058295, 523
7155058296. 321

7155058297. 524

7155058298. 520

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
568 13635 v ) DO EeSH0bk.

L6 3365 131 261 1)
Options :

7155058295. 523
7155058296. 521

7155058297. 524

7155058298. 520

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language if ROMAN is written as TQOCP: then ITALY is.......

Options :
7155058299. KVCMA
7155058300. KWCNB

7155058301. KUCLA

7155058302. KVCNA

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.8 §6 27AS’ ROMAN Q TQOCP: F TO° ), ITALY @8 ......
Options :

7155058299. KVCMA
7155058300. KWCNB
7155058301. KUCLA

7155058302. KVCNA

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select a suitable figure from the four alternatives which will come in the empty box.

- | X | X | ©

)X
B\ b | ?

Options :

ol I
L/




7155058303. D
7155058304. C
7155058305. B

7155058306. A

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
PN DEPEIT) O ) TI0ES 3TN D0 E?

— X X O

(A) (B) (C) (D)

Options :

7155058303. D

7155058304. C

7155058305. B



7155058306. A

Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155058307.

7155058308.

71550583009.



7155058310.

Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢5¢h 3. 255503 23690 HE) BFS’ LRI E3Eh DD ¢85 B
0004,

7

Options :

7155058307.




7155058308.

71550583009.

7155058310.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object, Identify the INCORRECT 3D view from the
given answers figure.

Options :



7155058311.

7155058312.

7155058313.

LYoV

7155058314.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



B D0 28 5005 8|1 D L0/ ST, Bara VTS DO TR o7 3-8
28 7)) W00,

Options:
<S>
7155058311. @
S
7155058312. <>
7155058313. I
7155058314. I



Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many surfaces does the object have?

Options :

7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



DN DD EOederen EOMK0E?

=

Options :

7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :



/1

NN

7155058319.

7155058320.

7155058321.

7155058322. IJ—_l_fl

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢3¢ )50 DO EB5B0DS, 272 DEFOS &) D@en sFaT HOT ¢ D doer
290 DTON?




Options :

=
%
7155058319. j
7155058320. j
7155058321 i
7155058322. {?

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures.

Options :

7155058323.

7155058324.

7155058325.




Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
55 3-% D58 DD @ D5 Q) tHBoBod

S

Options :

7155058323. E

7155058324.




e

7155058325. -

7155058326. .

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M () ()

A B G D
Options :

7155058327. D

7155058328. A

7155058329. B

7155058330. C

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



38005 S0 2690 198) BFES PR ESI AT Based) B
Hodod.

A B C D
Options :

7155058327. D

7155058328. A

7155058329. B

7155058330. C

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A paper 1s folded in a given pattern and 1t is cut at the end. Identify which pattern is formed when
the paper is unfold.

/
/
/
b 4
[] L
Options :
- - :.r.
F
"I’\/
- - -
Falw
b
‘/{/ | ™~ .
7155058331, ks __sls e

. 'T} } 4
L
.’
- Y ]
//lll o L
i/ ", s
7155058332, ks _sjs e
- L]
. P
//
L]
- R
s h
LV e
7155058333 l,.* e|* =

T R
//
e
. P -
/.-"l’ri'\
L o
7155058334, ke ele @

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2.8 TR TN A0 ks DE DO EBBOTE. 8 FATR) Hcheh
S5 ST 565 )08 o0 (980904

/
/
/
X
s @
Options :
- L ] :r.
&
oXo
- - -
Faly
t
0/"'/ | \.
7155058331, ks __sle e

7155058332.

. "
7155058333, L el o3

: ae ;.
//"‘
L 3 )
- L 3V -
/X.T;’\
by s A
7155058334, ks sls  «

Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

I

L7/ [/
A

Options:

7155058335.

7155058336.

7155058337.

7155058338.




Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3% 3.3 DE ), a0 HE) OIS LRSI 0 MBS A ) MBI

P
"y
U\§
'\D\
N

Options :
7155058335.
7155058336.
7155058337.




7155058338.

Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

\

[

(L) [/
A

/

Options :

7155058339.

7155058340.



7155058341.

7155058342.

Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



56 3.8 DE P, w60 HE) OIS BrRRYE E3:3¢ BN A R hotiod.

O

/

Options :

7155058339.

7155058340.

7155058341.




7155058342.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155058343.

7155058344.



7155058345.

7155058346.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



59 3-8 SDHD D 0B TFVSYE ES5Hch SZ0TD HB00A.

7\

Options :

7155058343.

7155058344.

7155058345.




7155058346.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.

e \\\\: ) f')

. (1] ] H

A B C D
Options :

7155058347.

7155058348.

7155058349.




7155058350.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 2rioS R DEren 28 H00ER) EOMRT) 0N, Tk 2rod R Inces
DSOS IS 02050 BB V&) thBosod.

INIED AR

A B C D
Options :

7155058347.

7155058348.

7155058349.

7155058350.



Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

Options :

7155058351.

7155058352.




7155058353.

7155058354.

Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X-X Sgals Q|50 OB0Ey A5Gy 103023, H8otd0dk.

X

Options :

7155058351.



4

7155058352.

7155058353.

444

7155058354.

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.

an

\ .

£

Options :

7155058355.

7155058356.

7155058357.

7155058358.




Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
B3R JPBOTD DB 2367720 D) S0

dh

7
\.
T

Options :
- L ]
7155058355, L® i
[ ]
&
Lo
7155058356.
.\Iiiii;;
L ]
7155058357
9
L ]
®

7155058358.



Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?

| Ic . |'; 4 Now Fn/

Ny N L, i
LS I (N A | P I L] B LS
A/|\h|;/|\‘l"/|\"l‘|/f\7
1 WL X || 5% 8

[ ] [ ] [ ]

A B C D

Options:

7155058359. B

7155058360. A

7155058361. D

7155058362. C

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



28 ST WrD0AN DGO 1t 2 DB EBB0TE. & FRTR) DCheh
205 ST 565 )50 Se0red HBOI0A

W P 20 P ] P N
l\ | L] I /l I ¥ ! [}
[N | NN VI | LS A
A/|\L';/|\‘F/|\11/i\r
AR AR IEARA IR
TN TS I TS A TS
A B C D
Options :

7155058359. B

7155058360. A

7155058361. D

7155058362. C

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
O @ @D

Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



808 DSBOS Dy 13 HBo0&.

ANIAWALAN
O @@ @D

Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A Demand

530 4 D Supply
500 + 7
5 350+ /
= 300+ 7
g 250+ / // / /
Z 200+ /
1304 / /
100 + /
50 +
mm Y >
O L VEGETABLE COSMETICS SANITIZER  STATIONARY
{ FRUITS ITEMS

TYPES OF ITEMS

The diagram shows the supply and demand of different users for different items. Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155058367, B and D only

7155058368, A and B only

7155058369, A and C only

7155058370, B. C and D only

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A Demand

550+ D Supply
500+ 7
w 4504 p ;59
2wt 1/ /
2 350+ f//
w3004 ;
M
250+
5 ol - /
150+ ﬂfﬁ /// ;?4 ///
AN
218 SV /El N
0 VEGETABLE COSMETICS SANITIZER  STATIONARY
/ FRUITS ITEMS

TYPES OF ITEMS

D(H0 DA DRTHTHNS DAE DY) @S0 DO NINTR AFDNOE.
808 TS DO/ De30?

A, AT 50% @SHT, S B0

B. 703635 ) @99 035" 8876 8T EH0D.

C. @908, BO YN HT) @357, OB G553 D) BRI
EOHT) 0.

D. @086, B0 S0 eiF 870 EOR &) o B deired
9007 SOMHT*) 0N,

DN 2are) ) S08.

Options :

7155058367, B o000 D 37(¢53
7155058368, A DOC5D B &S7(éb

7155058369, A 20 OCIN C ST°(€H3

7155058370, B. C 200G D 33553

Drawing
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Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Correct Marks : 50

715505162
4

Offline
Mandatory
2

2

100

Yes

0

1
715505162
No

null



Draw a proportionate sketch of given reference image. Use black and white rendering techniques of
your choice,

Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50



2D BHBR) V(b0 errBorr @) AAHodd. add) D) Beng) 0O
ey BocsB0N T85O Gadsriotiodk.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

Use the basic 2D shapes found in a motor cycle and create an interesting 2D composition of your
choice, colour with any three colours of your choice.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

2.8 3rerD 2086 S %) §ANOT RrErte) 2D HO GHTFAOLI0G HOAM
B SN IR ST BOHOS adF) S 2D E000E AoHod.



